ESE 501, Home Work 5
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(b} Additionally if v; and vy are orthogonal vectars, Le. if § = X conclude that

Projpu = projy, ,i6 = proj, u + proj,, u.
This exercisc illustrates the advantage of an orthonormal sct of basis voctors,
2 Ictug, g, e, beasctofm linearly indcpendent vectors s B, m < n. For any vector » in R®, show that
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(b) Buvy, 09, -, v 18 an orthonormal sct of vectors in BY, show that
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whore u.y; 8 the i** coordinate of the projoction.

Remark: When the basis vectors are not orthonormal, the #** coordinate depends upon all the basis
vectors, This example illustrates the advantage of choosing orthonormal voctors,
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